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5:CLEAR A1

18: INPUT "a";a, "B
"B, MO C, DY
D

20:CC=ABS (A-C)

38:1F CCr=188LET
CC=369-£C

49:FF=] (TAN B¥TAN
B+TAN D%TaN 0-
2%C0S CCKTAN B
£TAN 1)

58:0.1=0TN (FF/SIN
ceo

B0: ZX=ATN (CTAN O
¥SIN A-TAN BX
SIN C)/(TAN D¥
COS A-TAN B¥

€as i
65:QX=2%+93:BB=
ABS (OX-C)

78: 1F BB)>88AND (3
60-8B))99LET (
X=7%x~94

BA:LPRINT "gX=";0
X:LPRINT vgJ="

;QJ

9a:END

B3:02=0J:03=0X: A1 A2
=A3-38: 60808 |
78

0X= 135.8488,2]
@J=52.394178459
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1,8:"2-188"
175:84=1:1F A1¢(-98
LET Q4=-
17B:1F ABS (N1)>98
LET Al=nl-Ad4¥%]
B4:6QT0 178
1B8:1F A3)188LET N
3=A3-364
182:1F A3¢(-180LET
A3=A3+369
185:a8=1:272p=25
198: IF A3<CAILET A3
=] .
285:COLOR 8:GRAPH
:GLCURSQR (184
s ~188): SORGN
Z19:LINE (8, 8)-(8,
48)-(3, 35)=(-3
; 35)-(8,48), 43
215:LINE (-88,8)-¢
128, 8), 4
228:B1=-58%C0S 45.
B2=-58x51N 45:
83=38%CAS 45:8
4=58%SIN 45
225:LINE (B1,B2)-¢(
B3, B4)
230:X1=B:¥Y1=~28: X2
=QAPx28%(CAS (-~
Al)+9.3535%S 1IN
- (=A1))/TAN AZ
235:Y2=n0%20%9. 353
S%¥SIN (~al)rs
TAN AZ2-29
248:X4=88% (8. 3535%
COS (~-[A1)-SIN
(-R1J):Y¥4=88 B
. 3535%CNS (Al
):X5=2X4:¥Y5=Y4-
29
245:X3=X2+X4:¥3=Y2
+Y4 '
265:LINE €8, 8)-(X]
y Y= (X2, ¥2)-¢
By, B)-(X4, ¥4)-(
X3, ¥Y3)- (X2, ¥2}
a

)
278: LINE (X3, Y3)~C .

o y 2

268:GLCURSOR (B3, B
4): | LPRINT "N¥
298:RETURN

LRBEIE,
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BFmE4L,
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#4
3:"TU-1-M=-B"
19: CLEAR
15: INPUT "R";R, "M
u; ”, “N";N

18:0IM-Ad2, N)iR=R
XS5:K=INT (N,/317
)

29:FQR 1=1T0 M

25:REQD B:1F K=2
GATQ 35

39:1F B>=184LET B
=B-188

35:0=INT (Brig):a
(8, D)=R(4, D3+B
fACZ2, D)=AC2Z, D)
+1

48: 1F K=160TO 453

42:READ C:n(l, D)=
ACY, D)+C

45:NEXT ]

S8:FOR 1=8TQ0 N

55:1F ACZ, 1)=9.
GOTO &8

GA: QB 1)=n(8, 1)
ACZ,10:AC0T, 1) =
ACl, 1Xrace, 1)

85:1F A2, IJJELET:

E=QAt2, 1)

68 NEXT 1:E=E/R:
GRAPH :
GLCURSOR (R+19
, 8):S0REGN

79:B=8:C=8:F=8:0=
a

22:FOR 1=8TQ N
J5:X=A(2, 1)/E¥CAS
(Atd, 1))1¢=a(2
, 1)/EXSIN ta(s

, 1)) K==K
BA: LINE (B, C)- (X%,
Y), 8, 1

B3:B=X:CaY:NEXT 1
99: JF K=1G6DTQ 118
85:F0OR 1=8TQO N
188:AC2, 1)=AC1, 1%
R/788%COS (N(8,
Po:adl, =adl
y 1J¥RZ78B%SIN (
acg, 1)3:A(2, 1)
:"‘Q(ZI ]J

185:LINE (D, F)-(AL
2,1,a0(1,13),8
8 0

128:0=A(2, 1):F=A(]
y 1D INEXT 1

118:FOR J=17Q K:A=
B:B=8

115:FQR =8BT0 18

129: X=R¥CQAS (1%18)
:Y=R¥SIN (1%18

b}
125:1F J=2LET Y=-Y
138:LINE (R, B)-(X,
Y), 8,8
1337 A=X: B=-YINEXT

1

J48:NEXT J:LINE (A
s B)-(B, &)

142:W=08:1F K=2LET
W=-R

145:LINE ¢-25,W-28
)—-(25, U-28):
LINE (25, W-28)
-(25, W-15):
LINE (-25,UW-15
)=(-25, W-28)

1SR LINE -8, &), 9,
3:CS1C2E 1:E=
INT (Ex5888)/1
98

168: GLCURSNR (-R-3
y ) LPRINT "N"
! GLCURSAR (R, @
JILPRINT g

178: GLCURSAOR (-22,
W-15):LPRINT ©
A" :GLCURSOR (1
8, W-15):LPRINT
E

188:D0ATA 93,75

258:END
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M—5 it A,
- N—— B} 175%35;
17—k [ BB TE s
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WHYUE T I BN A=A 8.
B RBFETAEENSE S, T IHERTE
PRELHLAL e 52 B8 SE .

5:nTU-11-J1" " &S5

18: INPUT "R";R, "N
IZ;N, llmll;m

15: R=R%5: BRAPH :
GLCURSAR (R, 8)
: SORGN

29:FOR J=1T0 2

25:FOR T=94sNT0 8
ASTEP 84sN

39:K=R¥TAN (T/2):
A=K B=g

35:FAR 1=8T0 18

49: ®=K¥COS (1%18)
:Y=K¥SIN (1%18

)

45: 1F J=2LET Y=-Y

58:LINE (A, B)=(Xs
¥), 8,2

55:0=X: BYINEXT 1
SMEXT TiNEXT J

§5:FOR 1=1T0 12

78 X=R¥COS (38%1)

PY=RXSIN (38%]

) .

25t LINE {X/N, Y/ND
- (R ¥

8Y:NEXT ]

8S!FAR J=8TQ M-1

39:READ @, B:B=R¥
TaN (Br2):%=B%
£OS @:Yz-BXSIN

e

95: LINE (X, ¥)-(X
¥y, 8,1

198: NEXT -J:LINE =(
9,9),3 3

1¢5: TEXT :CS1¢E 1@
LCURSOR INT (¢
Z¥R¥3672135)+1)

J12:EPRINT "N®

126:0ATR S
145:0B8TA 2
158: END



